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|--|--text NBEHB 7
|--|--entry 1..1 R | B EDH % H
classCode Hr
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|--|--|--|]--code codeSystem 0011. 2. 2. 17, @codeSystem 00
codeSystemN Name=""PA:15 B ¥4 75 H ’
ame x”
Hrr,
@xsi:type="CD” , @codeSy
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|--|--|--|--code codeSystem ,
deSvstemN 0011.2.2.17, @codeSystem .00
codeSystem e ey st
y Name:”EEE/fa Aﬁ‘ﬁﬁjﬁ H
ame ,
X
Hr,
@codeSystem="2. 16. 156. 1
|--[--|--|--value 0011.2.3.3.11.17, @codeS

ystemName="1Z Wi{Ci% &
(ICD-10) 7,

13



WS/T XXXXX—2013

@xsi:type="CD”

|--|--entry FHER 2K 45 2% H
classCode H
|--|--|--observatio i Y,
moodCode @classCode="0BS", @mnoodC
n ode="EVN”
code Hrh, @displayName="7%4 %
displayName AR,
@codeSystem="2. 16. 156. 1 | DEO05. 10. 025
|--|--|--|--code codeSystem L
ToSvstermN 0011.2.2.17, @codeSystem .00
codeSystem e s
y Name:”EéE/fa Aﬁ‘ﬁﬁjﬁ H
ame ,
X
lef-value Wi AR, H
@xsi:type="ST”
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codeSystemN . 10011. ,2, 2. 1’:@0(\),deS}Lst .00
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|--|--entry R 44 R ok H
. classCode Hrp
|--|--|--observatio » e
n moodCode @classCode="0BS", @mnoodC
ode="EVN”
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displayName @codeSystem="2. 16. 156. 1
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|--|--|--|--code codeSystem 0011.2.2.17, @codeSystem 00
codeSystemN Name=""P." {5 A H
ame x
- -qualifi
r
eeeoe--name Hdv, @displayName="H"
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|-|--|--|--value 1..1 | R |, @xsi:type="ST”
6.9 ARITIXIET
6.9.1 EFTITRIETHLBHMK

TR TR E S 5% H ALK 20,

20 SATTITXIET P EBEMR
% BB ¥ #3R iR

FHIE AR 1k 2% H 1.1 R FHIF AR SR 1 1
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component %%J?%fﬁﬂﬁiﬁ?ﬁﬁiﬁii
|--section
o e TR AR,
H1@code="18776-5",
codeSystem @codeSystem="2. 16. 8
Jcod i R 40.1.113883.6.17,
--|--code : .-
displayName @displayName="TREAT
4os \ MENT PLAN” ,
t ”
codesysten @codeSystemName="10
ame INC”
|--|--text NBEHER 7
|--|--entry 1..1 R | AHIEMKIE IR 2 H
. classCode Hor
|--|]--|--observatio Y
moodCode @classCode="0BS", mo
n
odCode="EVN”
code Hrp, @displayName="
displayName FHIE AR ik
7 @codeSystem="2.16 | DE05. 10. 132
|--|--]--|--code codeSystem 1..1 R ,
.156.10011.2.2. 17, @ 00
codeSystemN ,
codeSystemName="_13
ame e % — ”
AAE B G H %
Hrh, e
|--|--]--|--value 1..1 R %*] P
xsi:type="ST
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|--|--entry L.1 | R |RIAEEHE
. classCode Hr
|--|]--|--observatio Y
moodCode @classCode="0BS”, mo
" odCode="EVN”
code Hrh, @displayName="
displayName 1 MG
7 @codeSystem="2.16 | DE06. 00. 300.
|--]--|--|]--code codeSystem 1..1 R ,
.156.10011.2.2. 17, @ 00
codeSystemN ,
codeSystemName="T.
ame e s ”
EXEISEAE =P
|--|--|--]--value 1..1 R | Hrh, @xsi:type="ST”
6.10 ERED
6.10.1 ERETEBEMRL
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22 EEETHEBEMK
% HBWK 2H | 4R i
= U 2% H 1..1 R | EWEE B FEAA
6.10.2 EREETTREMR
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component EREZETRTE
|--section
code 2 W = 1A,
displayN @code="46209-3" ,
ame @displayName="Provid
er Orders” ,
|--|--code codeSyst 1..1 R ,
em @codeSystem="2. 16. 84
CodeSyst O. 1. 113883. 6. 1” ’
emName @codeSystemName="L01
NC’/
otext Ay
|--|--entry =g 2% H
oo,
-}----organizer , ,
@classCode="CLUSTER
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, @moodCode="EVN”

|--|--|--|--statusCode
|--|--|--|--component [ g 100 25
|--|--|--|--|--observation
code ,
3 Hr, @displayName=
displayN N g
e = g i H 2R AT,
@codeSystem="2. 16. 15 | DE06. 00. 289.
|--|--|--|--|--|--code codeSyst ”
6.10011.2.2.17 , 00
dez @codeSystemName=""T
t AN M) — ”
codesys A5 B T H R
emName
code . .
; =g I H R A, H
displayN ”
71, @codeSystem="2. 16
ame
. 156.10011. 2. 3. 1. 268
|--|--|-=|--|--]--value codeSyst ” ”
, @codeSystemName=
em N ~ ”
o = W i H R ARG R,
codesys @xsi:type="CD”
emName
|--|--|--|--component P VE 1 H
Horp
|--[--|--|--|--observation @classCode="0BS” ,
@moodCode="EVN”
Code Hrr,
codeSyst @codeSystem="2. 16. 15
em 6.10011.2.2.17 ,
. DEO06. 00. 288.
|--|-=|-=|--|--]--code codeSyst @codeSystemName="_ 00
emName AEREFE THX ,
displayN @displayName="[5 g i
ame HHNA"
|--|--|--|--|--|--effective
Time
. \ DEO06. 00. 222.
e e e e e PR W Tl s H ST [R] 00
. . ‘ DEO06. 00. 219.
[=~f=-]=-}=-]=-|--|--high W vl 45 5 A ] 00
eeeeoeeovaluie PRV I H NS HUE, ik
B 1Eexsi: type="ST”
|--|-=]-=|--|]--|--performer VBT
) value L ‘ DEO06. 00. 222.
|- == |- |-~|--[--|--time BRUBHHAT H JTS ] 00
[oo-o--assigne

18



WS/T XXXXX—2013

dEntity
=55 N Dibril, Hrp
|| [-=|~=|-|--|--id @root="2. 16. 156. 1001
1.1.47
ool --assig
nedPerson
T O T O T O Py - DEO2. 01. 039.
AL R VB AT H 244
me 00
el -repre
sentedOrganization
—e|em|==|om|=|~=|==|~=|--na P DE0S8. 10. 026.
SEEEEEE. WA RS
me 00
|--|--|--|--|]--|--author R VE I
. ‘ DE06. 00. 220.
|- |- |-|--[--|--time PR T 37 H YIS (] 00
ol -assigne
dAuthor
P55 N Dibril, Hr
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ool --assig
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me 00
el -repre
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e ——
me 00
|--|--]--|--|]--|--participan EhEEZ N, Hibsg
t {f, @typeCode="ATND”
. o N DE06. 00. 088.
|- == |- |-|--[--|--time 1 g A% I ST ] 00
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1.1.47
H.rh@displayName="%&
reefeflo-ef-code W
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T e e
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ngEntity

erfffo--f-J-ona
me

PR Vg B i N\ 254

DEO2. 01. 039.
00

|--|-=]--|--|]--|--participan
t

EUEEOEE, HAEd
{#, @typeCode="ATND”

e time

value

[ W H 7 S99 T

DEO6. 00. 234.
00

|--|--|--|-~|--|--[--particip
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@classCode="ASSIGNED

”
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-
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|--|--|--|--|--|--entryRela
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EWE&IEE R, sk
H1E,
@typeCode="COMP”

|--|-=|--|-=|--|--|--observa
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code
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codeSyst
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displayN
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EEE

DEO6. 00. 179.
00

e e

xsi:type

R SRR RS,

|--|--|--|--|--|--entryRela
tionship

EIEPATIRES, Hrpsk
4 1E@typeCode="COMP”

|--|-=|--|-=|--|--|--observa
tion

CRUE AT IR 2% H

erffo--f-code

code

codeSyst
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07,
@codeSystem="2. 16. 15
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codeSyst 6.10011.2.2.17 ,
emName @codeSystemName=""T
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ITIRE”
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|--section
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|--|]--code

Hr, @code="47519-4",
@displayName="HISTORY
OF PROCEDURES”,
@codeSystem="2. 16. 840.
1.113883.6.17,
@codeSystemName="LOINC

”

|--|--text
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|--|--entry

FARKH

|--|--|--procedure
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@classCode="PROC”, @moo
dCode="EVN”

o-i-f-code

code

codeS
ystem
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@codeSystem="2. 16. 156.
10011. 2. 3. 4. 6”7, @codeSy
stemName="F A (#1E) fX
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DE06. 00. 093
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--statusCode

oo
|--|]--|--|--entryRelatio
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FARAMK

|--|--|--|--|--observation
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-|]--|--value
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|--|--|--|--entryRelatio
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|--|--|--|--|--observation
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.00

-|--|--]--value
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-|--entryRelatio
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nship

|--|--|--|--|--observation

HAgE{E,
@classCode="0BS”, @mood
Code="EVN”

orff|----code

IAPATR, Horp
@codeSystem="2. 16. 156.
10011.2.2.17,
@codeSystemName=""TF 4=
SR ITTHE,
@displayName="/~ \¥144
FR”

DE0S8. 50. 037
.00

oobef-|-o-value
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M % A
(ERMEMISR)
292 BIEA S =B

<?xml version="1.0" encoding="UTF-8"?>
<ClinicalDocument xmlns="urn:hl7-org:v3" xmlns:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"

xsi:schemalocation="urn:hl7-org:v3 ..\sdschemas\SDA .xsd">

<realmCode code="CN"/>
<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>
<templateld root="2.16.156.10011.2.1.1.23"/>

<l-- XHFAKT >
<id root="2.16.156.10011.1.1" extension="RN001"/>

<code code="C0003" codeSystem="2.16.156.10011.2.4" codeSystemName=""T /{5 & 3L 2 R4 i 7k &
"></code>

<title>2112 B WL Pi</title>

<l-- SCREHLARAE R ) >
<effectiveTime value="20121024154823"/>

<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"
displayName="1F i 1 [n] {1 2 25" />

<languageCode code="zh-CN"/>

<setld/>

<versionNumber/>

<recordTarget typeCode="RCT" contextControlCode="OP">
<patientRole classCode="PAT">

<117 (&) L5HiR >
<id root="2.16.156.10011.1.11" extension="E10000000"/>

<lHL T R L >
<id root="2.16.156.10011.1.24" extension="HA201102113366666"/>

<telecom value="020-87815102"/>
<patient classCode="PSN" determinerCode="INSTANCE">
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<|--FBFH B AE S bR -—>
<id root="2.16.156.10011.1.3" extension="420106201101011919"/>

<name> 51 /)N Bl </name>
<administrativeGenderCode code="1" codeSystem="2.16.156.10011.2.3.3.4"
codeSystemName="" B {4 H A% (GB/T 2261.1) "/>

<birthTime value="20080101"/>
<age unit="%" value="34"/>
</patient>
<providerOrganization>
<id root="2.16.156.10011.1.26"/>
<name>F} % 4 Fr</name>
<asOrganizationPartOf>
<wholeOrganization>
<l-- LIRS -->
<id root="2.16.156.10011.1.5" extension="F=J7 DA ML (RH5"/>
<name>H1 14 4 FR</name>
</wholeOrganization>
</asOrganizationPartOf>

</providerOrganization>

</patientRole>
</recordTarget>
<!>

<author typeCode="AUT" contextControlCode="OP">
<le- R AN >
<time value="20120909111214"/>
<assignedAuthor classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
< BBENR >
<assignedPerson>
<name>Z* % AF </name>
</assignedPerson>
</assigned Author>

</author>

<l REN >
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">
<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.5" extension="[&J7 A HLH % 5"/>
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<name>xx[& Bt </name>
</representedCustodianOrganization>
</assignedCustodian>

</custodian>

<l-- EN%4 >
<legal Authenticator>
<time/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="Ex 55 \ A 4 5 "/>
<code displayName="5{{FE=4"/>
<assignedPerson>
<name> 51 (TR A2 1 44 </name>
</assignedPerson>
</assignedEntity>

</legal Authenticator>

<relatedDocument typeCode="RPLC">
<parentDocument>
<id/>
<setld/>
<versionNumber/>
</parentDocument>

</relatedDocument>

<component>

<structuredBody>

<l i >
<component>

<section>

<code code="48765-2" displayName="Allergies, adverse reactions, alerts"

codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>

<entry>

<observation classCode="OBS" moodCode="EVN">

<code code="DE02.10.023.00" codeSystem="2.16.156.10011.2.2.1"

codeSystemName=""T 415 /& 44 7 H 3" displayName="1 §{ 3 5 & "></code>

<value xsi:type="BL" value="true"></value>

<entryRelationship typeCode="SUBJ">

<observation classCode="0OBS" moodCode="EVN">

<code code="DE05.01.022.00" displayName="1d f 2"
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codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T*£ 15 S ##z 0 H x%"/>
<value xsi:type="ST"> I 1§ i B4t A </value>
</observation>
</entryRelationship>
</observation>
</entry>
</section>

</component>

<l FiFETN >
<component>
<section>
<code code="10154-3" displayName="CHIEF COMPLAINT"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<l-FEYrFKH-->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.119.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B & 7t H 5% " displayName="F1¢"/>
<value xsi:type="ST">X] F 35 A UG AH IC 1) 32 BLRE IR S FLRF SN [A] (1 4
W, o B AN R </value>
</observation>
</entry>
</section>

</component>

<1--BLjpg L AT >
<component>
<section>
<code code="10164-2" displayName="HISTORY OF PRESENT ILLNESS"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<1--T Sk H -->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE02.10.071.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T =15 & H#f 7t H 3" displayName="H{J5 5"/>
<value xsi:type="ST">X} F3& 4§ Fr EH W 1 OLI A ik </value>
</observation>
</entry>

</section>

</component>
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<l-- BRAESRETT >
<component>
<section>
<code code="11348-0" displayName="HISTORY OF PAST ILLNESS"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE02.10.099.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T£ {5 B4 #% 7t H 3% " displayName="BE T 52"/>
<value xsi:type="ST">X] 3 BEA (2 BORGUAE T I PEA R R </value>
</observation>
</entry>
</section>

</component>

<l A E R >
<component>
<section>
<code code="29545-1" displayName="PHYSICAL EXAMINATION"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<l AR A - ORI 71 5 2R >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.10.258.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=" T {5 B #% 70 H 5% " displayName="1£#& fi & "/>
<value xsi:type="ST">{A gt i 45 R 555 </value>
</observation>
</entry>
</section>

</component>

<l SRR E T >
<component>
<section>
<code code="30954-2" displayName="STUDIES SUMMARY"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
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<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.010.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4-15 5 345 7¢ H 3" displayName=""4f B £ 1 H "></code>
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.009.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 4045 7C H 3" displayName="4f B £ 25 . "></code>
<value xsi:type="ST">j B £ 25 R4tk </value>
</observation>
</component>
</organizer>
</entry>
</section>

</component>

<l-- ZHridRETR >
<component>
<section>
<code code="29548-5" displayName="Diagnosis" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC"/>
<text/>
<|--HL R EANS-->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.196.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 B #% 70 H 5% " displayName="#]i2 45 £ 85" />
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.2.39"
codeSystemName="#Ji2 b5 HEACILE" displayName="4]i2"/>
</observation>
</entry>
<l ECPUL B R >
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE02.10.028.00" displayName=""r} [ “[JU 2" #)i £2 4L I
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 & ¢ H 3"/>
<value xsi:type="ST">W 225 R A ik </value>
</observation>

</entry>

<% H: B>
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<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>

<observation classCode="OBS" moodCode="EVN">
<code code="DE05.01.025.00" displayName="12 ki % FK"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F£: {5 B ¥ ¢ H 3¢"/>
<value xsi:type="ST">4¢ K MU IF 955 </value>
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.01.024.00" displayName="12 Wi{tfid"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_F£: {5 B ¥k ¢ H 3¢"/>
<value xsi:type="CD" code="1"
codeSystem="2.16.156.10011.2.3.3.11.3" codeSystemName="1Z ¥if{iZ3& (ICD-10) "></value>
</observation>
</component>
</organizer>
</entry>
<entry>
<organizer classCode="CLUSTER" moodCode="EVN">

<statusCode/>

<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.172.00" displayName=""" %77 % % "
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"T 415 & ¥4} 7t H 3% "><qualifier><name
displayName=""+[% 97 £ 4 F% "></name></qualifier></code>
<value xsi:type="ST">1 & % £ Fr</value>
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.130.00" displayName=""r =% % {CH5"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"T 415 & ¥4} 7t H 3% "><qualifier><name
displayName="H" X% 41X "></name></qualifier></code>
<value xsi:type="CD" code="1"
codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""rEJiilF 32 5EEK ( GB/T 15657) "></value>
</observation>
</component>
</organizer>

</entry>
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<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>

<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.172.00" displayName="" PZiIF {5 4% Fx"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_T 415 & ¥4 7t H 3% "><qualifier><name
displayName="H" X iIF % 44 FK"></name></qualifier></code>
<value xsi:type="ST">M1 & iF{% 4 Fr</value>
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.130.00" displayName=""ZilFfEftA%"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_T 415 & ¥4 7t H 3% "><qualifier><name
displayName="H" X iIF {545 "></name></qualifier></code>
<value xsi:type="CD" code="1"
codeSystem="2.16.156.10011.2.3.3.14" codeSystemName=""rEJiilF 73 5EEK ( GB/T 15657) "></value>

</observation>
</component>
</organizer>
</entry>

</section>
</component>

<l AT RIET >
<component>
<section>

<code code="18776-5" displayName="TREATMENT PLAN"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.132.00" displayName="#iF { §z"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 E i ¢ H 3%"/>
<text>FHE MK I Fi R </text>
</observation>
</entry>
<l--¥5 MVE%-->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.300.00" displayName="75 Nl 5 %"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T £ {5 & ¢ H 3¢"/>
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<value xsi:type="CD" code="01" codeSystem="2.16.156.10011.2.3.3.15"
codeSystemName="75 My i%% (GB/T 16751.3-1997) "/>
</observation>
</entry>
</section>

</component>

<|--PEVg§ & 5>
<component>
<section>
<code code="46209-3" codeSystem="2.16.840.1.113883.6.1" displayName="Provider
Orders" codeSystemName="LOINC"/>
<text/>
<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.289.00" displayName="1= g i H 57"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_ 415 & ¥4} 7¢ H 3% "></code>
<value xsi:type="CD" code="01" displayName="F 2= g"
codeSystem="2.16.156.10011.2.3.1.268" codeSystemName="[% g i H R 15 K" />
</observation>

</component>

<component>
<observation classCode="0OBS" moodCode="EVN">

<code code="DE06.00.288.00" displayName="[% g il H I 25"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_ 415 & ¥4} ¢ H 5% "></code>

<effectiveTime>
<I--BEWE THRITT 4G H I [F-->
<low value="201210090900"/>
<!--ER Vg TR 45 o H (A -->
<high value="201210201700"/>
</effectiveTime>
<I--BEUEITHRIE -
<value xsi:type="ST">[EIgE Ui H N 25 B Ak fiA</value>
<l--PATH-->
<performer>
<I--ZEWEIAT H IR (] . DE06.00.222.00-->
<time value="201210100930"/>
<assignedEntity>

<id root="2.16.156.10011.1.4" extension="1% %5 \ i %=
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"
<code/>
<I--BEUEIATH 24 DE02.01.039.00-->
<assignedPerson>
<name>ZE JU</name>
</assignedPerson>
<I--EEUEHATFIZ: DE08.10.026.00-->
<representedOrganization>
<name> P £} </name>
</representedOrganization>
</assignedEntity>
</performer>
<A-fEH: VT H->
<author>
<1--ZEWE T2 H WA (] DE06.00.220.00-->
<time value="201210050910"/>
<assigned Author>
<id r00t="2.16.156.10011.1.4" extension="F= %5 A\ I % 5
S
<|--BRWEH L% 4: DE02.01.039.00-->
<assignedPerson>
<name>iK ~</name>
</assignedPerson>
<|--EEUEFF LR : DE08.10.026.00-->
<representedOrganization>
<name> P £} </name>
</representedOrganization>
</assignedAuthor>
</author>
<1 B B >
<participant typeCode="ATND">
<1--BEWE 4% H IR A . DE09.00.088.00-->
<time value="20121005"/>
<participantRole classCode="ASSIGNED">
<id r00t="2.16.156.10011.1.4" extension="E= %5 \ I 4 5
"

<!|--ffff-->
<code displayName="[% g & % \"/>
<I--EUEH N2 4: DE02.01.039.00-->
<playingEntity classCode="PSN"
determinerCode="INSTANCE">
<name>F {fj</name>

</playingEntity>
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</participantRole>
</participant>
<1 BERHE >
<participant typeCode="ATND">
<1--ZEURICH H WA (8] DE06.00.234.00-->
<time value="201210090920"/>
<participantRole classCode="ASSIGNED">
<id root="2.16.156.10011.1.4" extension="[Z %5 \ R 45
S
<l--fth->
<code displayName="[%"g B \"/>
<I--HUHERE# %5 4 : DE02.01.039.00-->
<playingEntity classCode="PSN"
determinerCode="INSTANCE">
<name> T f1</name>
</playingEntity>
</participantRole>
</participant>
<|--E VR A B>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.179.00" displayName="[3 Vg £+
5 2" codeSystem="2.16.156.10011.2.2.1" codeSystemName=""F £ = 5 ¥4 ¢ H 1"/~
<value xsi:type="ST">[EIE % 1E (5 B</value>
</observation>
</entryRelationship>
<RI >
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.290.00" displayName="[2 g $117
IR codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F£: {5 H ¥4 ¢ H %"/~
<value xsi:type="ST">EIE AT IRZE</value>
</observation>
</entryRelationship>
</observation>
</component>
</organizer>
</entry>
</section>

</component>

<l-- PAREBAET >

<component>
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<section>
<code code="47519-4" displayName="HISTORY OF PROCEDURES"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
<text/>
<entry>
<l-- 1.1 PARIEFR >
<procedure classCode="PROC" moodCode="EVN">
<code code="1" codeSystem="2.16.156.10011.2.3.3.12" codeSystemName="
FARERMERIBER ICD-9-CM) "/>
<statusCode/>

<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.094.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=" T 415 & 4045 7€ H 3" displayName="FAR (¥fE) LF"/>
<value xsi:type="ST">% Fiffi i </value>
</observation>

</entryRelationship>

<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.093.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 445 7C H 3" displayName="F R K& #5AE H briB AL 44 FR" />
<value xsi:type="ST">F AR K #:AF H br i 4 Fr</value>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE08.50.037.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T.A£ {5 B #% 70 H 5% " displayName="/> A\¥J %4 FK"/>
<value xsi:type="ST">4 A\#¥) % Fr</value>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.251.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 B #5760 H 5% " displayName="#¢1F Jj iL A "/>
<value xsi:type="ST">$1E J iLffiid</value>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.250.00" codeSystem="2.16.156.10011.2.2.1"
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codeSystemName=""T./:15 B &l ¢ H 3" displayName="1§1E /4" />
<value xsi:type="ST">#{E X F</value>

</observation>
</entryRelationship>
</procedure>
</entry>
</section>
</component>
<l-- RO FFN >
<component>
<section>
<code displayName="#& ¥ sk Z 15" />
<text/>

<l-- RiZHRECT HEROT IR H I A SRR H I 2z fud s >
<entry typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.181.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 5% 70 H 5" displayName="212 K 1d % "/>
<effectiveTime>
<low value="20120102111214"/>
<high value="20120102111254"/>
</effectiveTime>
<value xsi:type="ST">2 123 RO F ik </value>
<entryRelationship typeCode="COMP">
<organizer classCode="CLUSTER" moodCode="EVN">

<statusCode/>
<l-- ZhHEHPAN AL >
<component>

<observation classCode="OBS" moodCode="EVN">
<code code="DE08.30.032.00"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T 415 & Z(4f& 7o H 5" displayName="Z N K\ 71 %4
Hn/>
<value xsi:type="ST">Z BRI 51 % Hi</value>
</observation>
</component>
<l-- BAVHRIRZ KRS >
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE08.30.031.00"
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""T 415 & 4 #i 7t H 3" displayName=""% I R ER 552K
HARHS" />

<value xsi:type="CD" code="1"
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codeSystem="2.16.156.10011.2.3.1.209" codeSystemName=""%\V Hi AR B 5 KRG K" />
</observation>
</component>
</organizer>
</entryRelationship>
</observation>
</entry>
</section>

</component>

<l-- AP EET >
<component>
<section>
<code code="8648-8" codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"
displayName="Hospital Course"/>
<text/>
<l-- [ZEWHEILR >
<entry typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.181.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 2045 7C H 3" displayName=""2112 F MIp F£ ic %"/>
<l-- W NWLEE S I ) >
<effectiveTime value="20120303111213"/>
<value xsi:type="ST">2\12 B Wi A2 1L R A </value>
</observation>
</entry>
</section>

</component>

<l HABAHRAE B =T >
<component>
<section>
<code displayName="Jfth #H 5 E."/>
<text/>
<l-- VEREFH >
<entry typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE09.00.119.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T {5 & #(#f 7t H 3" displayName="yF = Ii"/>
<value xsi:type="ST">JF & FH I F 4 iR </value>
</observation>

</entry>

<l-- BHEEANAE >
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<entry typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.185.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T =15 & ¥4 7t H 3% " displayName="/5 & % mXig"/>
<value xsi:type="ST"> ¥ 2 [ L </value>
</observation>
</entry>
</section>
</component>
</structuredBody>
</component>

</ClinicalDocument>
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